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— SASMYI EE=HED1(1204 ) 7
75,500& = 5004 3,775
—HEE 2el=Hg 2 100,000& = 604 6,000
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SH: BHAMD
Hz: HIIS Ale 2 Hel
e NEHES (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— SASMY I NEAHD|D| 22l S
4,500,000 * 5% = 12&€ 2,700
— =S N AAAY QUEXE M|
100,000 * 50 500
—WEEN YUAMY AT U BUX =
g 2 1,000, 0008 1,000
O£ 500
—#EEA YUAY T X)) Y
500,000 500
Oex= 253,000
—SASMYDI HA=H HEAHSED|D| Xz
60,000 * 35004 * 12& 252,000
—HEZ2S S ARt 500,000 = 23| 1,000
ogds4 560
—SAESE HIIS ZMAN SEI /A3
3ol =& 70,000& = 89 560
02 2% H| 90, 100 90, 100 0
OAAEZHI KXY 90, 100
— HHEY&GHE SXNEE
5,000,000& = 1402 70,000
—SASMHI HEAHSII RAE+
25,000 = 590K * 12& 17,700
— MEMY D 2elolRA KBS
100,000 = 2o & = 12&€ 2,400
202 o4 | 3,600 5,400 A 1,800
01 2Ll 3,600 5,400 A 1,800
OMEHIIE Hel g8
100,0008 = 3% * 12& 3,600
301 et A= 5,000 5,000 0
12 JIEtE2 &= 5,000 5,000 0
OQHXMY =HEBA sI&EX S P
500 * 10,000kg 5,000
303 ZA& 2 35,000 35,000 0
01 A2 35,000 35,000 0
Od9s=sHIIZE =83 XUS
2,500,000 = 140 ™ 35,000
401 AlEHIZL 2 0HY| 69,000 69,000 0
01 Al&H| 69,000 69,000 0
OSASMY I HEHIII &I AYBA
700,000 = 3004 21,000
O2elstA &X 48,000
— 22l A XS Al
20,000,000& * 2J0H 2 40,000
— &I & H| 1,500,000& * 242 3,000
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L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— 28otA Stoict Xl
2,500,000& * 200 £ 5,000
Mg suoty 4XIX& 150,000 75,000 75,000
= 75,000
< 30,000
s 45,000
401 A& HIZ 201 I 150,000 75,000 75,000
= 75,000
< 30,000
s 45,000
01 A& HI 150,000 75,000 75,000
ONgs sunty &x1X& 150,000, 000& 150,000
= 75,000
< 30,000
[ia 45,000
SZEHHE =H243 401,920 451,266 A 49,346
= 31,400
< 25,120
e 345,400
301 LEPEAF 401,920 451,266 A 49,346
= 31,400
< 25,120
s 345,400
12 JIEtE4 3 401,920 451,266 A 49,346
O2sHIIE2 =HELHI(HEIE S)
401,920,000& 401,920
= 31,400
< 25,120
s 345,400
Hass d8Ad =35 162,527 78,127 84,400
201 L2l 50,527 48,127 2,400
01 At 2t 2l 14,507 12,107 2,400
Oget=&t| 12,107
- HEESS USHB(FYL.&.UNR S) 7
= 70,000& * 58 = 43| 1,400
—NEEZ 28548 2 2,700 * 1,500kg 4,050
~WERE SBIY(EW) 7
10,0002 * 10074 1,000
—HEEZ M2 2HE ==2
500,000& * 6HS= 3,000
—UOIRET 242
192,720& = 3M & + 23 1,157
—HEEF(AHS,0tAT 5) 2
1,500, 000& 1,500
On=tl 2,400
- TN (BANSY) 222 7Y
200,000& = 6Y 23] 2,400
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SH: BHAMD
Hz: HIIS Ale 2 Hel
e NEHES (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 2224 H| 36,020 36,020 0
OA & &l 8 XYl 25,000
—ME=2E Ad48)] RANES
1,000,000 * 5& x 23| 10,000
—UEHIIZE H2lAlE SN2
1,000,000 = 53] 5,000
—BolAE U W AEI| RA2L
2,500,0009 * 2= * 23| 10,000
OXtgded] 11,020
— E¥H, XNHX SFH
1,300& * 304 * 180 7,020
— EH, XIAHX £=2l8] 2,000,000& = 2CH 4,000
401 AlEHIZL 2 0HY| 22,000 30,000 A 8,000
01 Al& H| 22,000 30,000 A 8,000
OMEMYIIXHEIE AMES WAELZ2A(4S,6
s) 22,000,000 22,000
405 XHAHFEEHI 90,000 0 90,000
01 AL 2 EF S| 90,000 0 90,000
OAElZzE 220 2¢ 90,000,000 90,000
=SSOt 53 K& 95,000 70,000 25,000
= 6,000
= 6,000
= 83,000
401 Al HI L 2 0HHI 95,000 70,000 25,000
= 6,000
& 6,000
= 83,000
01 Al&H| 95,000 70,000 25,000
OHdlYe &ot& AxXl 95,000,000 95,000
= 6,000
& 6,000
= 83,000
AE R M2 217,232 202,050 15,182
= 65,414
= 21,468
= 130,350
AMESRM - A A 22| 217,232 202,050 15,182
= 65,414
& 21,468
= 130,350
28 . EEAME 22 L ©X 82,910 85,510 A 2,600
201 gBt24y| 22,250 22,450 A 200
01 A2t 2| bl 22,250 22,450 A 200
Ogbt4=24| 21,250
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2N
X ZH -
L= B

el

2209 M)
NES MR
MESIM - FAAL B2

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 et A= 2,700 2,400 300
= 1,350
& 945
= 405
12 JIEtE2 A= 2,700 2,400 300
OAILIN ZAIS(AE)g2s B4
50,000& * 3% x 18 2,700
= 1,350
& 945
= 405
HEloD|sAaE dd2ed 29 7,500 7,500 0
= 2,050
== 2,050
= 3,400
301 et A= 7,500 7,500 0
= 2,050
= 2,050
= 3,400
12 JIEtE2 A= 7,500 7,500 0
OO0el0 JISAS de2aed 88 B4
50,000& = 10¥ * 153 7,500
= 2,050
= 2,050
= 3,400
Helo|2Aa 2 K|} 8X 29 118,600 105,000 13,600
= 59,300
== 17,790
= 41,510
307 2Iz2t0| & 118,600 105,000 13,600
= 59,300
= 17,790
= 41,510
05 QIZ2tREF 2 118,600 105,000 13,600
O0elol Az XY &x2d9 XN
118,600,000 118,600
= 59,300
= 17,790
= 41,510
Fofoe 2e2H 200 200 0
= 100
= 100
201 gBt2Ad| 200 200 0
=2 100
= 100
01 AP 2t 2| H| 200 200 0
O AMES =2 AtH] 100,000 = 20 & 200
= 100
& 100
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SN HEAMD
M BN
Sl ABSIM - HUAL el (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AlALEZ3H A 3,882 0 3,882
= 1,941
< 583
s 1,358
201 £B-2dH| 3,882 0 3,882
= 1,941
< 583
s 1,358
01 At 22l 3,882 0 3,882
ooty Al 2 ALY 3,882,000& 3,882
= 1,941
< 583
[ia 1,358
HE2LZH (BZ A0 56,768 56,280 488
Jl2dd(s+Z M) 56,768 56,280 488
Jl2dyl(2Z2AM) 56,768 56,280 488
201 24l 34,928 33,100 1,828
01 At 22l 34,928 33,100 1,828
O el 10,400, 000& 10,400
O= &l 24,528,000 24,528
202 O4dl 15,600 15,000 600
01 = LH 4 Hi 15,600 15,000 600
OJlege=d 50,000& = 26% = 12& 15,600
203 YR =&l 5,040 4,980 60
04 FN2ELRZ=TH| 5,040 4,980 60
ORAN2EYE=AHI 420,000& = 123 5,040
204 MR FH| 1,200 1,200 0
01 MR8 1,200 1,200 0
OXM GRS A H| 100,000& * 123 1,200
HRas (2l M) 1,066,125 571,195 494,930
WEHAX S (SZAAHDL) 1,066,125 571,195 494,930
HWEAHHX S (SZ 24 1) 1,066,125 571,195 494,930
701 JIEtSI HEEES 989,725 503,695 486,030
01 JIEtZIHEES 989,725 503,695 486,030
Ox=ZMNLELEINH BES 989,725,000& 989,725
702 JISEES 76,400 67,500 8,900
0MNII3EES 76,400 67,500 8,900
QHIISHMelAld =8 FQUX2 (&)
76,400,000 76,400




